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e e T I T it o < e &

(A) 4000

(B) 400

(C) 40

(D) 365

The total number of ¢ggs produced by 3 healthy human female during life time:
(A) 4000

(B) 400

(C) 40

(D) 365

Tt 3§ PrR-¢ & @ Wl T S mivd gf @ @ @ aRv 2
(A) Rt A P v 3

(B) wtma ¥ wiw e A B D IR yppl A e B § oy
(C) gwmpRil & nfereieran § FA

(D) & d wi

The main reason for making Copper T most effective and popular Intra Uterine device
in female: |

(A) Reduction in fertilization ability of spermatozoa

(B) Increased phagocytosis of spermatozoa due to release of copper ion
(C) Reduction in motility of spermatozoa

(D) All of these
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(A) tftn vd ura

(B) we

(C) g ™ am

(D) 1A oY o

In which of the following species of plants sceds are pmduccd thr
(A) Asteraceae and Grass

(B) Mustard

(C) Citrus and Mango

(D) None of these
wﬂmmmﬁm?ﬁuﬁaﬂﬂ.mmmﬁwg-

(A) A

(B) agwm
(C) =rAA

(D) wEwmnla |

Genes present on same locus having different expressions
(A) Multiple allele

(B) Polygene

(C) Oncogene

(D) Codominant gene

AT e au FEd 79 A A 7 R o A A 8
(A) TPTRE21W@Y

(B) oA 1 W@ X

€) TRA1W@Y

(D) TRE X @Y
The human chromosome with highest and least number of genes are-

(A) Chromosome 21 and Y
(B) Chromosome 1 and X
(C) Chromosome | and Y
(D) Chromosome X and Y

ough apomixis:

arc called-
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(A) gfediem
(B) #regeeriam
Oy s
(D) xpd

Sickle cell anacmia show

(A} Epictrasic

(B) Co-dominance

©) Pleiotrops

(D) Incomplcte Jominance

sreferm & frpr® T P REER A g @ e gz B2
(A) Iqad mw A

(B) sfYwrh am fAww

€) ww

(D) =3 & #v¢ A

Adaptive radiation is Australian marsupials are example of-
(A) Divergent cvolution

(B) Convergent cvolution

(C) Saltation

(D) None of these

21 % R[A B Zrgad A A A il fard e 82
(A) a3 o= firge

(B) zH= fhigm

(C) zra &t srrwran

(D) @A fagm

The trisomy of 21" chromosome causes-

(A) Klinefelter’s syndrome

(B) Tumer's syndrome

(C) Sickle cell anaemia

(D) Down's syndrome
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U® R gfie ard) afvan, P e avlag g g " qar AP Jon 4
B R, o g @ ar T4 A avifren afy gpo! gorl A aun vy

(A) 25% avifir g ¢ e wred) <l qmirer AL pet 97

(B) 50% avibwi wx vd so% ey gite e T

(C) 50% kv y3 vd so% quia o)

(D) N g3 apyey glte ard va quitay A

A normal vision female whose father s colour-blind marrics & nofmal vision maje,
What would be the probability of her sons and dayghters (o be colour blind?

(A) 25% sons colour blind and all daughters with phmmypicall y normal vision,

(B) 50% sons colour blind and 50% daughter normal.

(C) 50% sons colour blind and 505 daughter cojour blind.

(D) All sons normal and 50% colour blind daughter.

s wfoRrd Sfare) an srgite &1 A Ry g &
(A) e R

(B) FRISTE

(C) &N wyer 3 gifer RAf=m

(D) v FH RAFra

Appcara:nce of antibiotic resistance bacteria is an example of-
(A) Adaptive radiation

(B) Transduction

(C) Pre existing variation

(D) Divergent evolution
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y KU .
¢ 58 o1 A g

\l

h e U qq g M U o H¢
A ¥ sk &
(A) 3 vy aredied '
(B) s it ¢ o N
(€) IrwQ qrird i

(D) %7 A wh

nvoly, sn RNA

Which of the following '* i in ranscription of IRNA, 557 RNA and
of eukaryotes?

(A) RNA Polymerase |

(B) RNA Polymerasc Il

(C) RNA Polymerase llf

(D) All of these

O T @ e a0 & T W Ry vy @ B & Al Iw@ R 31 A
T S R 3 g’

(A) 1°F°

(B) 1°1°

© 1°1°

(D) "*

A Child with blood group "0" has ‘B’ blood group type father then the father has
geno type of-

(A) 1°1°

B) 1°1°

) 1°°

D) 1
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13 WATR A g A a7

(A) ey am

(By g ) wanfd

(C) U e

(D) @z O

‘Flavr Savr' is a-

(A) Pesticide

(B) Chicken breed

(C) Transgenic Tomato

(D) Insecticidal Protein

43 CRFAAA §) ¢ ¢ D @ Pt g —r qRaT 8-
(A) OfFTgIfG SfAerss o

(B) # w1 & R

(C) fri Weange
(D) 7 | W
The specific sequence of DNA recognized by Restriction Endonuclease are-

14

(A) Palindromic nucleotide sequence
(B) VNTR
(C) Minisatellite

(D) All of these
15 fR N A 3 safrafda T frad g aufRa B @7

(A) B RSN IR T T (RNAD
(B) TR 3R ¢ ¢

(C) ATdB A

(D) &7 & @ T

Silencing of gene could be achieved through the use of-
(A) Short interfering RNA (RNAI)

(B) Antisense RNA

(C) A &B both |

(D) None of these
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it 4T | f“ hﬁ Wq Rera fore fasar wran en?
(A) ORI Afi

(B) Fva ol
(C) Srafdd aferedt

(D) WS spefrgfed

The first clinical BEM¢ (heraPY wag given .
(A) Adenosine D¢ IS Deﬁclm

(B) Chicken Po¥
(C) Diabetes mellitus
(D) Rheumatoid Arthritis

GAATTC fr sfd@rl €8 RAL B gt s 82
(A) R

(B) g Il

© Q|

(D) &1

GAATTC is recognition site fOF Which regtriction endonuclease?
(A) Hind Il

(B) EcoRI

(C) Baml

(D) Hae Il

wdwem faffa ol T & TR F R} 9 o

(A) o

(B) ¥R

(C) el

(D) i

The first transgenic cow was named as-

(A) Daisy

(B) Maizy

(C) Dolly

(D) Rosie

[119] T
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(A) ey

(B) ®1¢ amg v &

(C) datudifor gt

(D) A w@B R

Which of the following nematodes infect the root of 10bacco plants?

(A) Bacillus thuringicnsis

(B) CryIAC

(C) Mcloidogyne incognita

(D) Both'A’and ‘B’

ftad aa e M 50 oh ghon o @ sy oy gl Tt @ S wwd,
Tl -

(A) g

(B) @ A IR

(€) V& FRERR

(D) s HTERWR

:'\ molecular technique in which multiple copy of the desired gene is synthesized in
vitro is called as-

(A) ELISA

(B) PCR

(C) Gel Electrophoresis

(D) Flow cytometry
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i o) ity Y Moy P —— dn sl Y gm gy,
Py g A ada gt 9T W 7] o
(A). gy

(B Agqaa

(Cy wghaa

(D) #AFE

Which of the following enZ¥Me jg o0 o break the bacterial cell wall to relcase DNy
and other bio macro molecules?

(A) Lysozyme
(B) Cellulase
(C) Chitinase

(DY Collagenase

T A 3 wuforen A 1 g 42

(A) a=. ‘

(B) ®¥eiqs snfgfew

(C) R

Dy 778 8§ 3 T8

Which of the following is an cxample of autoimmune disease?

(A) Asthma http://www .bsebstudy.com

(B) Rheumatoid arthritis

(C) Cancer

(D) None of these .

e B {1 A WR A T W S gRads i oRala B 82
(A) fuges 1) 3 Igdga § deedde &1 @ § w@

(B) @f§ & @ am aun g W= A R A s gy

(C)- g% 8 Qi (A w3 B)

(D) &4 @ F T8

The immediate metabolic changes in the body noticed after consuming tobacco is-
(A) Release of catecholamines due to stimulation of Adrenal gland.
(B) Sudden increase in BP & Heart beat.

(C) ‘A’ & ‘B’ both

(D) None of these
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L LL R R LR Ry —— T gy farel B
(A) (B)- g
(©) tram (TJ} HYRI .
"Sona Lika® ang ‘Kalyan Sona® are high yielding discas¢ cosistant varety of-
) Rice (B) Whea!
(C) Maize (b) Cottoh
BRI o e 4 ¢
(A) oMYy B) e ,jm-‘\wfhn
(©) aelieifym (D)
Which of the following is not bio fentilizer?
(A) Azotobacter (B) Bacillus thunngiensis
(C)  Clostridium (D) Azolla
26 A Mavh @ e, D g @ g A EER Grg KA N Y ) 8-
(A) udtey (B) fayaratd
(G) e (D) w2 w1
Masses of bacteria associated with fungal filament to form a mesh like structure of
called-
(A) Flocs (B) Mcthanogen
(C) Plasminogen (D) None of these
27. WA s &7
(A) & 4§ e &1 W0em aet (B) ¥l ufy Mfw
(€) R ferhd N Hges (D) #=r 9fta &) ) @ew Wi
Probiotics are-
(A) A new kind of food allergen (B) Safc antibiotics
(C) Live microbial food supplement (D) Cancer inducing microbes
28. I yRfefie grr =ifda sy giés el A 2 &2
(A) g (B) ¥
© w1 s (D) FPH3
The toxic protein secreted by Bacillus thuringiensis is-
(A) Tubulin (B) Insulin
(C) Cry protein (D) Allof these
P 19] Page 11 of 16 [ Tumn over
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20, T qym gy &7
(A) By sufﬁ 3}m'ﬂmm % (B) pyergfed argl
(C). g arral e D) gt A @D
\";,hich of the following is il Fetrg virus?
(A) Human Immuno DCﬁCicnc}' Virus (B) Hepatitis virus

(C) Micro virus influenzii (D) All of these
0. F A W A TP B 3o g 82

(A) a1 IR (B) & W

©€) wRF =R (D) TS

Which of the following discase is generated by allergens?

(A) Skin cancer (B) Hay fever

(C) Enteric fever (D) Goitre

31. WP IRARE Prareyt 3 ¥ ey gar &7

(A) WHR 31§ ITETES, 9 G o

(B) SIS 47 (& TRRIT I Aawge

(C) NS, THY IT¢ TGS G HETEE
(D) WY T TS, BT I SRS U ERSIHHEA
Photochemical smog consists of-

(A) SO, PAN and Smoke :

(B) O:zone, PAN and NO,

(C) Ozone, SO, and Hydrocarbon

(D) S0,, CO, and Hydrocarbon

32. 7™ ¥ faw srgar &1 g RO FT Q 5 QA 27
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(A) T4 drer o 37 s (B) w7 fafawor &1 sy

(C) R fafdor &1 Jogor (D) W™ Hsd & 2w arReE

Snow blindness in human being is caused by-

(A) Absorption of UV. [ radiation (B) Absorption of infra radiation

(C) Absorption of cosmic radiation (D) Erosion of cornea by snow
[1 19]- Page 12 of 16 '

http://www.bsebstudy.com



wod Apnysqasq mma//:dny

¥

3s.

http://www.bsebstudy.com

mgma‘nﬁﬂﬂmﬂﬂﬁﬂ““‘“““‘“‘@#ﬂq}qwﬂqnﬁmmmﬂ‘ﬂ‘ﬂ

) &7

(A) TaGA Wﬂg

(B) oa g

(C) uRwd T

(D) FW A a1d

TTlc thickness of OQzone in a column o
measured in tcrms of-

(A) Dobson unit
(B) Arab unit

(C) Pascal unit
(D) None of these
Ryg 3 g IR ard
(A) 25

(B) 9

(C) 34

(D) 7@ A 7§ T
The total number of Bio diversity hot spots in the world is-
(A) 25

(B) 9

(C) 34

(D) Nonc of these

T @ A 0 e erow ¥

(A) #=

(@) T 35 IFES

(C) FARY TARY FEA

(D) ™ ¥ wh
Which of the following is green House gas?

f air from the ground to the top of atmosphere is

A7 e g1 Wie 2 Fa g A a6 @ &

(A) Methane

(B) CO;

(C) Chloro fluoro Carbon
(D) All of these
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Il 9 (Short Answer Type Questions)

mwrmiﬂmmﬂﬂﬂa‘mmﬁmmmaﬁﬁﬁmma‘ﬁ"‘”“

FiRa &1 s A 20 (10) N B T ¥
Questions no. 1 to 15 ar¢ short Answer type questions. Each question of t

carries 2 marks. Answer any ten (10) Questions on your copy.

~N

\w

o

sl wafn A s aH 8 S SETERE S T |

What do you mean by incomplete dominance? Explain with suitable example.

AT g @ R I P R 13 Awifea R T |

Draw a neat and well labelled diagram of transverse section of human ovary.
& w1 o @ Rl W B R () g s A RAE

Describe the two salicnt features of double Helix structure of DNA.
Prerifare o ufonfta Y 4T WS H 0@ ST |

(i) IR B

(i) R B

(i) AP Sfa o

(iv) gYOI

Definc and give one example of each of the following.

() False fruit

(it) True fruit

(iii) Parthenogenic fruits

(iv) Polyembryony

A SaRads A s wn e #7 e w9 REE A TR @ e 82

What is gene mutation? What is its role in organic evolution?

(10%2=20)

his category
(10>2=20)

@

@)

@)

@

@
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7.yl wurRa flm /30 T TR 8 ® tmﬂﬂsﬂmﬁ i-"l(?)la'ﬂﬂ »
T | @

s ey (2
What do you mean by genetically modified organjsm’ pescribe (WO (2) benefits of

a.

9.
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& @ v aaf @ fre s o Qg {J_,.nﬁmm”mﬁak@;
< fftre a1 ® TR i

Name any two (2) enzymes of DNA replicatig, iof

ang e
cach of them.

these crops.

ﬁﬂmimmﬁﬂﬁmﬂmﬁmaﬁq;mﬁﬁmﬂﬂ'ﬁ'is‘iﬂ]?? @)

» 7
What is micro injection? How it is helpful in recombinant DNA technology’

SRR SR T & AR AR § e @ T @)

: - ..o sepetic engineering?
~~ Whatis restriction endonuclease? What is its significance 1M genetic engineering

10.

mammmz?mwﬁwmﬁqﬁﬂﬁmﬁl @

" What do you mean by sewage? Describe the role of microbes in SCWilge ircatment.

1. 9 T 8 ga AR gR ol @ S @ e ant w8 @
What is micro propagation? What are the advantages of producing plants through this
technique.

12 FRE AT B TerE, T A TR, T Igar B R | @

- Describe the causative organism, mode of transmission. symptoms and therapy of
malaria disease. )

13. @ TeRe sl (sRifte) @1 W itk R @)
Draw a neat, well labelled diagram of a typical antibody.

14, W Rfduar g wie 71 2? Tra of ¥ o IR TR QA g wie P AW @ T

~" Rl 3 Rrd @)
What is Biodiversity hotspot? Write down the name and specialities of two such hot
spots found in India.

imWM%wmmi?MMmamwmt? @
What do you mean by ozone hole? What are main reasons of ozone depletion?
[119]
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A
Lo “Wer Typg Quostions)

ot T T 8, 1o ey g 8 st 2 et O R

' as
uve wiwm 16 A 18 T ety
™ ' ulsory.
Questions No. 16 10 1§ are 100 WSy type questions. All questions 8r¢ comp 5 -1:;
i . 3 N
In cach question there arc int€TM opgign ( ()
" f RN
16 s o E i 1 h_ "B A RfYE A Rwn ¥ :
< Discuss vanots method: ol C““‘mcminn for the regulation of population:
OR /atrar
) A % o R @ BN W@
et (EREN) | T ) @7 Prenifas R (243=5)

% —3a[0 ol
gaf argardl P el N

0w g (D) TR By Rigw (i) R R
What do you mead by chromosomaj disorder? Describe the
ubnnmmlilic.\ in the {ollowing genetic disorders- '

Down's syndrome 1) Klinefelter's syndrome (jii) Turner's syndrome

~ http://www.bsebstudy.com

cause and mlnléd

(1)
S

47 WQWWTPWWWWI )

What is adaptive radiation? Hlustrate it giving suitable example.

o~  OR/3wm@r
3 dtfrd T & R $ 84 § 3ae) Srafrar o T e | (2+3=5)
h“'hal is Biotechnology? Describe the application of Biotechnology in Medicines.
. ’ T

quwﬁwm)m%?mw.wmﬁm

quﬁwmwmwwaﬁim%w—mﬁmﬁﬁﬁr (1+2+2=5)
What is Aquired Immuno Deficiency Syndrome? Give an account of its pathogen,
(ransmission, etiology, diagnosis and remedy. Suggest measures for its prevention.

. OR/smmr
3q AR A W T afrg &2 e Rfaa &1 oRes § T wea 87 e Rfau
£ aft B T BRI R FHTA S | (1+1+3=5)

What do you mean by Biodiversity? What is the importance of species Biodiversity in
Ecosystem. Describe main reasons for depletion of Biodiversity.
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